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BYEHBEGTEH (B8/B) | .. | BEHETER (B/H) | .0
EEs | KAElE 5 EsE | KAlE B
SHI6E4B 178,728 12,920 191,648 100.8% 78,607 6,990 85,597 100.6%
SHI65E5 B 175,086 12,312 187,398| 101.2% 77,366 6,576 83,942 100.4%
SHI65E6 8 175,540 12,469 188,009 98.5% 76,924 6,785 83,709 98.2%
SHI6ET B 184,820 12,871 197,691| 102.6% 80,563 7,127 87,690 102.4%
SHI6E8 A 181,518 11,656 193,174 97.7% 78,191 6,216 84,407 96.5%
SFI6E9 8 185,330 12,925 198,255| 101.7% 80,533 7,097 87,630( 101.3%
SHM6F10A 183,940 13,304 197,244 101.7% 80,423 7,269 87,692 101.4%
SM6F1LA 183,767 12,991 196,758| 101.6% 81,064 7,209 88,273 99.7%
SM6F12A 183,087 13,379 196,466| 100.8% 81,849 7,185 89,034 101.4%
SH7TELR 163,873 11,491 175,364| 100.0% 73,760 6,528 80,288| 100.5%
SHTE28 172,737 12,967 185,704 98.0% 73,361 6,897 80,248 94.0%
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BYEHBEGTEH (B/B) | .., | BEHBETEE (B/H) | ..
TESE | KE=E : EEE | KEE B
SHSEE 179,015 12,395 191,410| 102.8% 78,934 6,860 85,794 100.7%
SHAEE 174,468 11,700 186,168| 107.4% 78,416 6,781 85,197 105.3%
SHI3EE 162,251 11,031 173,282| 110.1% 74,235 6,688 80,923| 106.7%
SH2EE 146,823 10,587 157,410 83.6% 69,468 6,375 75,843 84.0%
SMTEE 175,673 12,607 188,280 98.9% 83,264 7,034 90,298| 97.8%
TRL304ERE | 177,747| 12,634  190,381| 100.2%| 85,057|  7,247|  92,304| 99.4%
FER29FEE 177,488 12,437 189,925| 101.3% 85,849 7,036 92,885 100.9%
FR28EE 175,693 11,735 187,428| 102.9% 85,449 6,653 92,102 103.1%
ER2TEE 170,902 11,253 182,155| 102.5% 83,070 6,294 89,364 101.7%
FR26EE 166,862 10,804 177,666 99.8% 81,679 6,224 87,903 99.4%
ER25FE 167,219 10,728 177,947 104.1% 82,456 5,968 88,424 103.1%
ER24EE 160,761 10,200 170,961| 104.1% 80,144 5,650 85,794 103.1%
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